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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)

SOCIAL SCIENCE
A 7 A ' -
% T 63 # HEm 16
Total No. of Questions: 63 TolEa Nnﬁ;ﬁted Pages: 16
T 2 42 45 () (qeiia: 80)
Ema: 2 Hrs. 45 Minytes) [Full Marks: 80)
Wi B R - o
Instructions for the candidates:

1 Rl wen e s w8 e 3
Candidates are tequited to give their answers in their own words as far as pracicabie
2 ;‘M I 73 @ 3 gv aF s Hide w0 £
rgures  the nght hand margn indicale ik i
2 Fow I mﬂ&mﬁ E.f-‘-‘g\:?’*ﬁf Bte- w?m'mﬂ e g BiharPaper.com
While answonng the questions, £anck¥ate showuki adnere 1o the word mit as tar as practcadio.
& GG T B rmagde 1) ARy 05 Mac F1 S awm B By
15 Minutes of exlra ime has teen alioftod tur the candaates 1o read the questons carofully
S MwT-rAT e )d i - -4/
This quashon paper is dnaded info two sections - - A and Seclion-B.
6 WS . ¥V A4 Feghe g & oplt mw St ad @1 {TTHE @ K30 1 NE e ) gt
Ui gwTar avid 4 OMR - e # B3 T af 3w F F, NS &t At 71w ) B
R g B FmgeAe/ ave Wrl/ 3/ g safe w1 gaw er ¥ gakr wew v @

a7 T _fevr I |
in Section - A. there are 40 objective type questions wiuch are compuisory. each carying | mark.
Darken the circle with blue/biack ball pen agans! ihe comect opbon on OMA Shee! provided (0 you.
Do not use Whitener/Liquid/Blade/Nail on OMR Paper, otherwise the result witl be invalid.
7. @E® — ¥ & vrEtm B @ e g7 5 [ # 19 oy owdr ge &1 (w3
fore 2 s e )
eI 3 T 5 7T (0110 0.5) & Fre? & R 3 el ar Gore &4
TTNY LT # TA 3 W (0.710 Q.9 8 [3r0d & f5F 2 we) F1 3ine I
JRferex & &l 3 W (Q.11 10 Q13) & L3 & R 2 vk o1 G 71
ymhr & B § W9 (Q.1510 Q.19) & Sorod v} R 3wt r Ime &1
ST FRES § & 3 W (0.21 to Q.23) # Fre & R 2 wet 1 9ak 34

73 et g7 o i ¢ O aeha 47 (06, 0.10, Q.14 and Q.20) 137 T B (IRIE &
T ¢ aw Pl &) 5@e 1 & oy RES (T @ w9) ¥ oz aife v Ran 7 &

DA AN P
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In Section - B. Ihere are 19 shorl answer type questions of § subjects under Soclel Sclence
{each carryng 2 marks) as balow - -

History has § questions (0.1 to O.5). oul of winch any 3 questions o be answered

Political Scence has 3 quesiions (Q.7 10 0.9). out of which any 2 Questions 10 be answered.
Economics has 3 questions (Q.11 to Q.13). oud of which any 2 Queslions to be answered,
Geography has 5 questions (0.15 to 0.19), ol of winch any J questions 1o te answered.

Disaster Management has 3 questions (Q.21 lo Q.23). ouf of which any 2 questions to be
answered

Apart from ths. there are 4 Long Answer Type Questions (0.6, 0.10. Q.14 and 0.20) Each
Carryng 4 marks. Each question has an alternate oplion

B war & gEwEiiae sygver w1 Wil gekam afttr &)

Use of any electromie appiiances is stnctly prohibited.

/ SECTION-A
Twf% v/ Objective Type Questions)

glxera, spive, R fRem, v oo AN RE
History, Geography, Politlcal Science, Economies and Disaster Management
Frenfea Rl gE 3 @ Rew BiharPaper.com (40X%1=40)

Select the correct alternative out of following multiple cholce questions.

o

e foremes A sk A= 2w o 89 g

(A &9 37 =0 {B) ®u 3k yn

() v51 M T () w ahe whh

Between which countries, the treaty of Brest Litovsk took place?

(A) Russiaand haly (B} Russia amd France

(C} Russia and England (D) Russin and Germany

At 1046 A F o Ao @ a2 are woshar 254 s F wen S 27
(A) (e ) b=

(C) #-M B (Dy T g T

By which name the treaty between Frilm."c and Vicinam in March 1946 is known?
(A) Tientsin (RY Cumton

(C) Ho-Chi-Minh (D} None of these
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T B v a1 v @ o e s i i gon?

(A) 1929, @R
(C) 1931, wu1ht

(B) 1933 &=
{D) 1824

In which annual Session of congress, the proposal for demamnd of complete

independence was passed?
(A) 1929, Lahore (Ry 1933, Kolkata
(C) 1931, Karachi (D» 1924, Belgaum
4. TP W@E N aEe B SR fra fram s=ram & e & nd?
(A) aiegrd) (B) sEwI@R
) u=m (D) T=mrm
Dunng which “Peasant Movement™ the title of "Sardar™ was given to Vallabh Bhai
Patel? i
(A) Bardoli (B) Ahmecdabad
(C} Kheda (D) Champaran
5. WA & A uean ¢9A vae Fa g e?
«(A) 1838 (B) 1858
(C) 1881 (D) 1919

When was the first “Fuactory Act” passed in India?

(A) 1838 (B) IRSY
(C) 1881} vl
6. Gl @i & fia fvw ot @ e gan?
(A) #sfF T (B) snam ad
€y Fwe ot ) =& T
Which class of society was exploited by the capitalist class?
(A} Labour class (B Middle class
(C) DPeasant class (D) All classes
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W?ﬁmaquﬂ#mWﬂwﬁﬂﬁﬁﬂm?

(A) aftRgs an (B) shenfis i
(€) wrvrard =iy (D) s @A
b |
I modern era. which was the biggest revolution in the ficld of economy:
(A) Commercial Revolution (B) Industrial Revolution .
(©) Communist Revolution (D} Geographical Discoveries
8. IR @ youm v Tow A gl
_(A) 1990 @ Tvw 3 (B) 1960 @ TI A
(C) 1970 & Torp & (D) 1980 & <WE ¥
In which decade, globalisation was initiated?
(A) Decade of 1990 {(B) Decade of 1960
(C) Decade of 1970 (I Decade of 1980
9. AT A whrm a gwe # vud @7
(A} ®ua B) frn
(C) (D) agfad
Which book was first printed by Gutenberg?
(A) 'The Quran {B) The Geeta
(C) The Hadis (D) The Bible
10. 7 % wewm 291 A youma w6l g3
(A) W@ (B) omr4
JC) & (D) amfdes
Where was the very first printing started in the world?
(A) India (BY Jupan
(C) China (D} Amcrica
1. %78 & vt/ wfvm & afde &) aren @t ala wm @2
(A) ¥ (B) 7
(C©) i (D) ThrRE
Which of the following chemicals is responsible for damaging of breading process in
Frogs”
(A) Benzene (B) Urea
(C) Andnn (1) Phosphorus
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12. fRER A oY wet- avey o
(A) odrags
) andfne

e s N frw o @ dden aar 27
(B) wERIgY
(D) &8

Lnncemr ti
4tion of which of the following element has increased in water because of
excessive exploitation of underground water in Bihar.

(A) Fluoride (B) Chloride
(C) Anvenic (D) lron

13. wfam @ awr 21 & w2
SA) T S e grefaw wERe & W R
(B) =7 wvemr
(C) UTI-FERF TR A
(D) WlAs wwrar wvem @
Article 21 of the Indian Constitution relates 1o which of the following?

(A) Conservation of wild life and natural resources.
(B) Conservation of soil.

(C) Conservation of water resources

(D) Conservation of mineral resources

14. fER & e wlere 0SS &3 8 on o dara 27

(A} 15 (B) 20
(C) 10 (D) 7
What percent ol geographical area in Bihar is under forest cover?
(A) 15 (By 20
() 10 {0y 7
15. Tyl A @ fay R afa @) yamen o 2
(A) i (B) A
wer (D) dwmEe
Which of the following minerals are used to manufacture aluminium?
(A) Manganese (B) Tin
(C) Iron (D) Bauxite
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16, Y=o @ Ry wrow 3§ 3¢ gt @ R A wARG e #

(A) aam (B) ¥&oTES W&
AC) e (D) ey
Which of the Indian state has maximum possibilities for the development of Solur
Enecrgy?
(A) Assam (B) Arunachal Pradesh
{C) Rajasthan () Mecghalaya
17. Frafofam 4 @ o oR fad =1 s @
(A)y 0N gatn (B) T ST
AC) e v (D) Rega Ig I
Which one ol the following is a small scale industry?
(A) Sugar industry (B) Paper industry
(€ Toy industry (D) Electric equipments industry
18. 29 A fhad A afdfs da Nefa &7 )
(A) 10 AB) 7
{€C) 15 (D) 5
How many Special Economic Zones (SEZ) arc there in the country?
(A) 10 ()
(C) 15 (D) 5
19, fRme & ¥ 3 A @) gd Farg o 27
tA) 6283 %4 (B) 5283 f%:R
(C) 7283 {6 (D) 8500 F5#A
What is the tofal length of railway lines in Bihar?
(A} 6283km BiharPaper.com (B) S283km
(C) T7283km (D) 8500km
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20. m-fiw A e A P wm R ) o né S @ wa A E
(A) wnfas t-ﬁ'mg (B) Ry Furd
(C) W= LGl (D) m\m =

The measurement of the height of a particular place with the help of bench mark. 15
known as -

(A) Spot height

(B) Special height
{C) Contour line

(D) Trigonomelric station
w4 ' e Bam A Qe = ¢ ) g afwr @@ @
(A R ¥R gEm # fta e Ew
(B) ww g1 fsar afR ot Y & od arwm gfaad
(C) awE v wtawl 3 waur o MU,

21

(D) RANEAOIE FTRna A 20 w1 imem T Jwwr A B

What do vou mean by sexual division?

(A) Biological difference between male and female,

(B) ‘The uncyual roles given to male and temule by the society.

(C) Ratio of male und female child,

(D) Female deprived of voting rights in democratic systems,
22, wredty TN & o ¥ T F P4 Q) puw qE T -

(A) = A @ MR ue WEWE 4 BN oI R

(B) T e v 1 o i F el

(C) el s A o W @ el J |

(D) ARAWT & Fa5F T FAFR T J¥4 |

Which of the following is true according to Indian Constitution?

(A) Tt prohibits discrimination on the basis of religion.

(B) Tt makes one rehigion as state religion.

(C) People are not Iree 10 accept any religion.

(D) Lack of voting right 10 women.
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23, = % e w2 =y
(A) T Qi % s & wie o &)
(B) T A oFm =) Twen s )
(C) F9a a3 ¥ 26 Twh 2
(D) Rf= e & dra e 73 A 2|
Sharing of power is right because -
(A) It contains the diversity m itself.
(B) It weakens the unity of country.
(C) It delays the process of decision tking.
(D 1t minimises the confrontation dMOnNg difTerent commt
24. T 1975 wRa waEhE # R fyg A &2
(A} 39 ad 34 g7 BT o
(B) Al g ohd gurmrs et 4N
(C1 2 3 MURLETA 0T T o
(D) Srw Ot 3 wEeR & e

Why the year 1975 is well known in Indian politics?

nities.

(A) General elections were held that year.

(B) Smt. Indira Gandhi becanie Prime Minister.

(C) Emergency was declured in the country.

(D) The Guvernment was formed by Janata Party.
28 faer ¥ wgd afa @ Age Peafafam # | R fomr?

(A) AR £ (B) v IR

Cy g A%l (D) TAWHTH ARV
Who lead the Sampoorna Kranti in Bihar?

(A) Morarji Desai {(BY Nitish Kumar

() Indira Gandhi (D) Jayprakash Narayan
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26. T oAyl e s @ wata &2

(A) RER, TsRude geguey . (B) uftArg Y. Tt
(C) U &1, WU, e (D) R, FERTE, WA

To which sates is “Nanmada Valley Project™ related?
(A} Bihar, Uttur Pradesh, Madhva Pradesh.
(B) Tamilnadu, Kerala, Knrnula‘kn.
() West Bengal. Uttar Pradesh, Punjuh.
(D) Guijarat, Mahurashtra, Madhya Pradesh
27. t=fafEa 6 A [ T T s omen o 22

(A) TR (B = fensT

1Cy HleuA (D) TftdE 6

Which one of these is supposed as “Life of democracy™?

(A} Government (B) Judicrury

(Cr Constitution (D) Palitical Party
28, T@-dadd TR Feraiag ¥ /R w anp aa @2

(A Wucl ¥R rms @ (B} IgaiY W

(Cy STy w D) AT W

Anti defection law is applicable on -

(AY MPand MLA (B) President

€y Viee President (1)) All of these
29, SR 4ol (03} TR @k TR A g

(A) 1992 (B) 1390

(Cy 2003 (D) 2004

When was the Janta da) (United) constituted?

(A 12 By v

(Cy 2003 (D 2004
30, fua R @ oM g aRw @ Wi &3 B afhlea 82

(A) o JUTEE 2 EE

(C) Arentha & (D) &3 A B =H

Which one of the following is included in the primary sector of the economy”?

(A) Service seclor (B) Agriculture sectar

(C) Industrial sector (D} None of these

1] Page 901 16 Mumover



31 PRI 2 A 1R oty ana v e &, 7 7 FEAH &

(A) ey B) Fsra
(©) o2 e ) s & and 1fl
The country whose per capita income is high. is called -
(A) Ulll.lcteh}pcd (B) Developed
(C) Semi- df\'t.‘lﬂpcd (D) None of thesc
32. fr 3 f¥a R o ofy afw g @i 82
JA) gT (B) T
(C) PRrage (D) A=
Which district of Bihar has highest pef capita income?
(A) Patng (B) Gaya
(C) Sheohar (D) Nalanda
B, maT Ay dT v w &
(A) Rad & aifs 3fEm (B) w®e &% aifv giBU
(C) o unfv ¥ (D) gome ATd T
Which is the Central Bank of India?
(A) Reserve Baok of India (B) State Bank of India
(C) Regional Rural Bank (D) Pumjab Nationul Bank
34. mmnile 3N @) wdvem wEgewn &4 frm oam?
(A) 1966 (B) 1980
L) 1963 (D) 1975
When commercial banks were first nationalised?
(A) 1966 {B) 1980
(C) 1969 (D) 1975

35. ¥ @ = & T &7

(A) T (B) ¢
(C) REm (D) ¢ & af
What are the main sources of energy? -

(A) Coal (By Petroleum
(C) Electricity (D) Al of these
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6, {*Tﬁ I Ma i {Equm Ay 872

A) mé ;
(Al ‘ ""z_'“ B) &=
(©) ame-mre (D) ot @ h

Which of these is 0 multinatipny]
(A) Ford Motors

company?
(B) Samsung

(C) Coca-Cola (D) All of these
37. sSwhan dRBR a8 e wmr g 82

{A) 17 g (B) 15 Imd

() 19 ala (D) 22 ol

When is Comsumer Rights Day celebraed?

h‘_\l 17 March (By 15 March

() 19 April (D) 22 April

38, ufy [ A% @ AW B 4 20 w3 A 46 o0 1 A0S A s & o ST wE

frergs T aear &2

(A) R wiem (B) <oy amaM
(C) Jwfa st D) = B ad)

What is the forum of complain for consumers if the price of any commaodity or service

is more than 20lakhs and below 1Crore?
(A) Dhastrict forum (R)

(C) Nautional commission (D

39. R O W@ IO ¥4 87
(A) I[E A I S AFM (B)
(C) i era 9 @U@ a9 (M
What is the main cause of Tsunami?

State commission
None of these

AU G b wE A

™ | w1 Al

(A) Earth quake in sea ¢B) FEarthquake on Ivfund
(C) Eunhquake on land arcas (I None ol these
40, Wt de & Tl el W e T2 1 T FE S 7
. (A) [FN TE (By it
L)y W D)y T F B A

(A) Earth quake Centre (B)
(C) Centre

The point on earth vertically above the Earthquake centre is culled -

Epi- Centre

(D) None of these
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gvg — 1/ SECTION-H1

/HISTORY
FAlTE mm #7 7= F7 TR
T TR 1 A s am ay oo g & g @ R .
¥/ ay (g7 A 32/
Instruction:-
’ : s 3>2=6)
Question no. [ 10 § is short answer iype. Answer any 3 quesiions. (Total marks 2)
I waRdm anem @4 s o, B
Non - couperation movement was a public movement. how? @)
2. B Ui he-gEhn  sleldiaw B TR wor @, AR
How coul and Iron industries triggered industrialisation?
3 e A 9 ¢ wmaah B AW 2w 2)

What tiew problems were emerged by towny?
4. enbve i A P me Rr-aEr @ @ @ Bega B
How industrial revolution expanded the nature of world market?
5. e F gEvaa = e 39
How Gutenberg developed the printing machine”
-

wr7 wem 6 i TahT 7v7 & W awd & g vw Re R B) (3T T 4x1=4)

Question no. 6 is Long answer question which is compulsory, it has an alternative

question. (Total marks 4x1=4)
6. HRAA WL I A MR Wl B AngE A e 33 )
Discuss the contribution of Gandhiji towards Indian National movement.
JYq_/OR

1920 & ifils wwFe B Fm vd oo 91 e w5

Describe the causes and consequences of economic crisiy of 1929,

[211]) Page 1201 16



Ay —

mm?#gmﬁymm

g1yl O D BT O ) (g WE 22=4)
Instruction:-

Question no. 744 9 ;¢ short answe,

¥pe. Anywer any 2 questions. (Total marks 2x2=4)

T 8 a3 g 4 5 a7 @ e g R e— ©)
State WY WO provisions which make India a secular country.

8 W N sl FAN-AT AWB qm A (2)
What are the different types of sharing of power?

9. M= M AETR & fae TN 22 w33 {2
Lack of education is u challenge 1o democracy? Explain,

A

| 10 G aoda gvr & b st & g 1 fows B &) (e o axr=4)
Question no. 10 is Long answer type which is compulsory, | alternative is also
Kiven to the guestion. (Total marks 4x4=4)

10, wia @ o wrfm ouife TE A wam el gEm e € o sad wmER e
2 (@)
Who provides recognition to national and state level political parties and what are the
criterions for it?

syar_/OR

wrenfers Y 4w dieas & il 2 2870 BrE @ e gun @
How the role of judiciary is a challenge to democracy? What are the measures for its
improvement?

[211] Page 13 01 16
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HIA

ECONOMICS
-

F¥T WA 11 @ 43 T Ty gtz 7T &1 s B B o @ o T o 3F 20=4)
Instruction..

Question no, 11 to 13 is short answer fype. Answer any 2 questions. (Total marks 2x2=4)

I sBla R aqup g0 el & o FY ) : @

4 ¥ . - " . -
What is cconomic Planning? Discuss in brief?

12, @3z ard am & @)
What is Credit Curd?
13, ddievm & o a8 @

What do you understand by Globalisation?

-
w7 W 14 5w I oy gvw & ot s @ ged 1 REw o &)

Question mo. 14 is Long answer question which is compulsory, 1 alternative is also
given to the question,

14, M — uzard wend t¥m wBR Ao &3 B e & aram s & 32w & ay
i) ()

Explain with example, bow non- governmen organisation INGO) contributes towards
the development of service sector?

Joqq_/OR
"I T AR 1986 ) @1 RATT @1 avia

Describe the main features of “Consumer Profection Act 1986
BiharPaper.com
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U

For_ GEOGRAPHY
TET TS 15 W 19 ww Ay veba gex &1 v @ MY 3 I TV A
&/ (g 3T PC=0)
Instruction:.
Question wo. 15 10 19 is short answer type. Answer any 3 questions.  (Total marks 3x2=6)
15, #1ea & fm wnif 3 48 = 1 Rem B 27 @
In which pan of Indw, River delta have been found?
16, Rrva) stgree a1 avie a) @
What is “Chipko Movement™ Lxplain.
17. | 3 awem or 7w Qoo T @
What do you mean by conservation and managemen! of minerals?
I8, WR-ot w1 wmga @9 @ &2 @
How solar energy is produced?
19. =R 4 WHl & sRffe Ram = o gwga SO @
Discuss the regional distribution of roads in India.
A~
7T W 20 I Jerdw e & o et @ gerd v R ot @1 (g 5 4x1=4)
Instruction:-
Question no. 20 is long answer type which is compalsory, 1 alternative is also given
to the question, {Total marks 4x1=4)
20, wa d P @R DA surm g e fm (4)

Discuss the Information and Technology indusiry in India?
AT OR
e TEn am &7 TaS g Rf~ vEr & o @ wedq 13 gEw R oanr &
fF=& dia &1 Araem oo I
What are contour lines? How the slopes are demonstrated with the help of contour

lines. Draw any five types.
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Ady -

T¥r HEm o, f}mwagmamms#aéﬁ-ﬁaﬁv?ﬂ"”’”’ﬁ
& (@7 & 22=4)
Instruction..

Question ne, 24 40 33 is short answer type, Answer any 2 questions. . (Total marks 2>2=4)

s & aqa ¢ T FT e B @)

Discus the measures 1o prevent drougih.

2. TR I acd @ ooy 25 N1 T T @)
Explain any three measures to minimize the devastation caused by Teunami.
3. MPET WD Yem 3t gIE 4 NG T A a7 | @

Discuss the role of Local administration in the management of sudden disaster.
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